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And when she turns her head around — DAY

OVERVIEW

Our mwn taught that if the animal ate 72777 7Inn (which is a 7"77) she pays nn
N1 (but not AR TAW 71, since it is 1"772 Jw); however if it ate 72r7 >7Xn, she pays
AP 1AW 1. 27 qualified this ruling that it is only if she is NN, There is a dispute
between >"¥1 and N1B0IN how to explain this ruling.
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>'"w9 explained that only when the animal turned her head around to eat 7%¥»

mann7,! does she pay 7P 1w 11, however if she ate 72777 732 without 739377 -
- 2593w 19 NNYYN NS NMIND NN PV NANTN STPEY M

For instance that the sides of the 17219 protrude (into the 7217) and she ate

from that protrusion, she pays (only) for the benefit she derived but not ap 7w 1.
- *Nyn NHYUNT 41‘1‘,7 DIV NN NINNT WD 579 HY IR W19

In an alternate explanation of 3''w9, elsewhere, he explained that nrn» is liable
(to pay AP 1AW 7)) on account of 192, since it is unusual for the 7272 to be nmn.

Moo asks on *"wH:
- 5O 391909 393 NINTIN XNDSY Y9915 NINTINT 193 1959NN 999947 1W19995 WP

And there is a difficulty with his interpretation; for previously the X3 said,
‘since it is usual for the goat to eat turnips it is also usual for the goat to scrape

and climb up’ -
- Smam 3198 MBYY 929X MNY NN 73133 NI

Similarly here it is usual for the 772 to turn her head around and even to
ascend to the 7219 3793, if there is food there; why does *"wA say that it is 721wn and is 270

! 7amn is the central plaza or marketplace of the city. The 72n77 *7x is a designated raised area on the sides of the
7217 where the vendors display their wares.

? In this case it is 1"7712 w.

3 See *"wn on the *7¥n 1,7 2,0 Mwn, where "W writes, 121 17 1°72. Others refer to X»>°p7 1"7°"wA on this 7y,

* See “Thinking it over’ # 1.

> See however *"w1 here nnP1 "7, which seems to indicate that the 2117 is on account of P17 MWw"1 Jw.

6 X,5 (on the top). The case there is where a goat climbed up on a barrel and ate a piece of na% (which was on the
barrel) while breaking the barrel. The owner is liable to pay for the N5 and the barrel.

7 We derive from the case of the Xn9> that even though it may not be usual for a goat to climb on a barrel; however
if does so to find food it is 77X, similarly even if n717» may be unusual, however it cannot be considered nnwn if
the 7172 was N7 in order to eat.

¥ This is a question on s""w" understanding of YXw; if she went up to the 72r77 7% he is 2°n, presumably because
it is 77p, since it is 7Wn (just as by n1M according to 27 it is 77). However n1901n maintains that it is not Anwn.
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AP TIW An since it is 72

mooIn has an additional question on *"wA5:

-‘ayv P YNYN APNIY NN HNOYNT I
And additionally the words P 2 7 nabwn indicates that he pays a 29w »11 for
eating 712177 >7¥n; however according to >"w7 (in the 71wn) that the 21°17 is on account of 72 he
will pay only a 11, not a w"1.

One final question on >"w"5:
- 19t 21505 02390 MWAY 01PN NEPNRT XIPNT TN YRUNT TN

And furthermore, it seems from the X713 shortly, that the obligation to pay
where one set aside his property for the 2''719, is like the obligation to pay for
natnR, and by opn 7¥pn there was no "W by the 7nn2 who ate from this place; it would

therefore follow that by n7mn also (which is similar to 2ypn 7¥pn) there is no "11°w, and both are
considered (P717 MwN2) .

In summation; >"¥7 maintains that 72r97 *7¥% N7 pays a 1'n (by a an) since it is (considered
nnwn and is) 17p. MoOOIN asks three question; 1) it is not MW, 2) AP 1AW 71 NYown indicates a W',
(not a 1"n), and 3) it seems that n711n (like 21P» 7XPN) is not INWAH.

mooin offers his explanation:
= PN 98N 22WN NANT YT1I8T PNYY 139299 AN
And it is the view of the >''9 that 7an9 9793 is considered as a P17 9% -
= 11AN9 Y82 9112 NN 1339 1PN NNNY MY Y W 1NN Yo
For everyone (the vendors) has permission to place his n1°2 opposite the

opening of his entryway into the 5731977 9798, therefore the 7an77 >7% is pran mwA, and if
the 7mn2 ascended to the 72777 77X it is considered P17 MwN2 and will be 21 according to

everyone -
- )W DYOM DYY P NN PN T8N DY NN 1IRY 9192w D1PNa P1999K 299

? The mwn begins by telling us that 1 is pr37 9%A2 179 (to pay a 29w pr1); however 1"772 it pays (only) n°3maw an.
The m1wn continues that 72777 N7 it pays NI 77 and 72077 7¥71 (when it is N7MA according to 27) it pays 1n
ap . It would seem that this contrast between N°371w 7 and 7p AW 7» regarding 7277 and 7277 °7¥, parallels the
initial difference between 1"i172 7w where it pays n°171w 7 and P13 MW 1@ where it pays w"1 (but not 1"1).

' The owner moved back (from) his property line adjoining the 1"717, and left open some of his property for the 2";11
use. He left n17°0 there and an animal ate them.

' The x7n3 cites an *K7T X2°X that by nimn all agree that he is 2n, they argue by D1pn AP, where 27 maintains
that he is 705 and X1 maintains he is 21 even by 01pn 11¥pn; seemingly implying that (while 21 does not compare
%R to NINR, however) YRMW compares 7XpR to NI,

"2 The word ‘even’ is to be understood that not only are the places in 72ar77 *7%, where the animal cannot reach it
(even) with 7111 considered P mw, but ‘even' the places in the 72777 7%, where the animal can reach it through
M, are also considered 17371 mw. However those places in the 13m0 °7%, where the animal can reach it even
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And according to 39 even the place where the animal can eat through =117 is
considered 137 9317 and is liable for @''1 on account of 1w -

102290 MY 15 25WN 1IN DIINY 1919W BIPN YNNYY)
However according to ®X»w any place in the 721777 >7% where the animal (who is
standing the 71217, which is a 7"77) can eat from there through 71917, is considered
a 7""71M and not pri nxn, therefore it will only pay neamaw .

SUMMARY

According to *"wA (in the mwn) nIn 1s 21 (according to 27) on account of 17p.
However according to m»don the 72777 7% are treated like 21717 7¥n (even if she
reaches it through n71m7 [according to 27]) and is 2717 on account of jw.

THINKING IT OVER
1. When moon writes that *"w1 maintains that the 2101 for nmn is because of 17,
does that apply to 9Xvw as well that 17277 *7%2 fp1 is 2°0 on account of 19p?'°

2. How do we interpret the word n71n23, which 17 states: Does he mean that he is
211 only by n71mn, or he is 217 even by NAMn?

without 7117 are not considered P37 MW", since it is easily accessible, and there would be no 211 to pay 7P 1w n
in those places even if she ate it through M7°m.

1 Since the food is accessible while the 73 is in the 2" (albeit through 77117), it cannot be considered that the
M7 are a7 MWI3, but rather they are 1"772.

“Tn summation; the innermost part of the 7am77 *7%, which is not accessible even through 711 is a P NN
according to all; the protruding part of the 72777 >7¥ which is accessible even without M1, is definitely a 7"77,
according to all; the dispute is regarding the middle area of the 7am77 7%, which is accessible only through =rn:
according to 17 it is P37 M and according to XMW it is 1",

1% See footnote # 4.

' See footnote # 8 and 11"aX # 65.
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